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@ The diagram shows a sketch of y = f(x).
On the same diagram, sketch the curve y = f(x) + 3.

Mark clearly the coordinates of the point where the curve crosses the y-axis.
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(b) The diagram shows a sketch of y = g(x).

On the same diagram, sketch the curve y = g(x — 3).
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Mark clearly the coordinates of the point where the curve crosses the x-axis.
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(c) The diagram shows the sketch of y = x2
On the same diagram, sketch the curves.
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Turn over.
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(a) The diagram shows a sketch of y = f{x). L Qb
On the same diagram, sketch the curve y = f(x + 6). i
Mark clearly the coordinates of the point where the curve touches the x-axis.
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(b) The diagram shows a sketch of y = g(x). v
On the same diagram, sketch the curve y = g(x) + 6. e f *
Mark clearly the coordinates of the point where the curve crosses the y-axis.
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(c) The diagram shows the sketch of y = x2.
On the same diagram, sketch the curves
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(a) The diagram shows a sketch of y = f{x). [
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On the same diagram, sketch the curve y = fix + 3).

Mark clearly the coordinates of the point where the curve crosses the x-axis.
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(b) The diagram shows a sketch of y = g(x). Z
On the same diagram, sketch the curve y = g(x) + 2. .
Mark clearly the coordinates of the point where the curve crosses the y-axis.
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(c) The diagram shows a sketch of y = x°.

On the same diagram, sketch the curv, ’
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Turn over.
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| @ @ Tedagam dowsaischoty=rin, < : (c)  The diagram shows the sketch of y = 8 0 1% .y cieary the coordinates of the point
¥ On the same diagram, sketch the curve y = f (x) 2. Mark clearly the coordinates of the point On the same diagram sketch the curvey =
where the curve crosses the y-axis. where the curve crosses the x-axis. "
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(b)  The diagram shows the sketch of y = g (x). Z

On the same diagram sketch the curve y = —g (x). Mark clearly the coordinates of the point
where the curve crosses the y-axis.
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